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MAULANA ABUL KALAM AZAD UNIVERSITY OF
| | TECHNOLOGY ‘WEST BENGAL

R ‘Paper Code : BBA-402 -
- MATERIALS MANAGEMENT
 Titme Auotted 3 Hours " FullMarks : 70

The ﬂgures in the margin indicate Jull marks

. Candtdates are requtred to gtve their answers in their own
words as far as practlcable

- GROUP - A
{ Multiple Choice Type Questions )

1. Choose the correct alternatives for any ten of the

- following : ° ' ' - 7 10x1=10

- A written order sent by the storekeeper to the - R

‘purchase department for requesting purchase of
_materials is called S

a) purchase requisition
- b) purchase order
+¢) bill of materials -

~+ ~d) none of these. o
) Bm Card is a record of
a) quantity of materials .
b)- both quantity and value of _materials
- ¢)  record of return of materials
d) none of these. B
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1ii) .S.toré Ledger is".a' rech;d”ofi‘ .
a) quaﬁ_tity Of-#ﬁétér;alsl |
o ,’.b)' . bott quanmyan 4 valueofmamm |
o ‘, c) .:_v."recc_)rd' of return Of‘inatc;rialg e
d .l""°“é °f"t.hés°.': 5 ”‘ |
| ‘fv) | Uﬂder ABCAnalysismateﬂalsare ClaSSiﬁedaspe l't‘-
| 1 a) E Vravte'Of consumption , |
b avatabmy
- ) | valuéé,bf consumpuon SR
d) | ,ﬁor.xe"‘df these
v ‘C‘a_j-rymg,éos't.curvé:uﬁd;e; Eoé'fgéhﬁﬂquq is E
- - ay upward rising i |
™ ‘downwar-d slopmg B
c) ba'rauel'wtth 'hofizontai a,gs; '
d) | parallel Withverticaj a_,d;,,; o
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i)

A Annual Demand of an ltem. Q EOQ
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C Cost per order C Cost per unit 1= Average__;f_jj:__"j

} Inventory Carrytng Cost (in % per annum) Bij C
: C and i are unchanged and Q is doubled~ whaty ‘

wﬂl be the eﬂ‘ect on Annual Demand A?
a) -Remain unchanged o

b). Decrease tohalf
) Increase four times
- d) Increase to twice.

Oldest stock is depleted ﬂrst in
a) -LIFO Method

'b) FIFO Method

)’ Average Stock Method

, d)‘ Standard Cost Method

viit)

Items in worklng order but are m excess of the

.rrequlrement are.

" a) Obsolete B serap

1ix)

[} S

c) Surplus o a Unserviceable
Stock out cost is | -
- a) Determinilstic ) Quan'uﬂable o
" c) Probabilistic d) All of these.

X

Crlteria of VED analysis is
a) Unit price of the materials

b) _Annual value of consumption |
- ¢ Critical nature of the item
. ,-";d) None of these ‘
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-' : xﬂ v Thc ‘pararnoto'rs forvendor ratinginclude  ’ o
'-:::5)}?"?fi°c ” *-‘"‘P)ﬁ "'scfviceifiﬁ*" .
'\ i:)’i filDeiivverY. | "._ »d) : -:All oflthesg;fﬁ- .
: 'xu)v Which of the following cost 1s not taken into -
. consideration for Make or Buy Decision ? o |
' “/a) | .Figed cos,tv b) VariaBle coSt
o Semi-variablecost d) Ncmc of tﬁese
ot omowP-B
( Short Answer Type Qnestions )

Answer any three of the followmg  8x5= 15

v"2 Classify the following 1tems mto A B, C category

Following ABC analysis of Inventory management

' S_l ‘No. Items 1 Armuai Usage Price/Unit - - =‘
S | ‘ v (Rs.)
o ,Gi'apnité 4000 kg - |- 10 / kg

Tar - | - sookg | 5/kg |
~ wax | eookg | 1lo/kg |
|~ Grease | 2000kg | G/kg |
" Drums | 1000kg | 18/kg. -

ol lw e =
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3. Compute the EOQ from the fouowmg

‘_a)

e

d)

4. leferentiate between the meamng of scrap, ‘waste,

‘Annual usage : 40000 units -

Purchase price per umt Rs. 16

" Cost of placinganorder Rs 480 o

J \.,;Annual carrying cost per unit ¢ 15% of inventory- '
: va.lue.o ' '

.

-.spoﬂage and defective

5. _»leferenuate between ﬁxed order quantity system and” '

- periodic order quantity system

" 6. M/s X and Co. mam:factures a special product A The

| followmg partlculars were collected for the year 201 1:

c)
R 1
o

;"_4/46:33;; i

_‘iMonttuy demand of A : | | 1ooo units

a)
b)- Cost ofplacinganorder B , "Rs. 100_ o
RN | k 'Annual carrymg cost per unit o Rs 15
d) 'Normal usage: 50 unit per week"'
e -Maximum usage IR 75 units per week
EEREES Minimum usage: =~ '25 units per week '
. @ Re-order period : ,' © . 4106 weeks. |

Lo ,Compute from the above |
by

-order leveI

_"Re order Quantlty
' Mmimum ievel

Maximum level

_Average stock level.
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" GROUP- c
| ( Long Answer Type Questions ) 7
Answer any three of the following » 3 x 15 45 -
B | .7 . Prepare a store ledger account under the LIFO and FIFO
| method of pricing ‘the issue of stores. using the_-
following information and discuss the differences in -
: value of closing stock so arrived under two methods ®
2015 | ~ oo T ) Units
Januaryl _'Balance in hand@Rs llO per unit e 1 100
“ 2| Received @ Rs. lZOperunit RV EE zoo'
" 10|Jssued - . ] 180
- -‘»'._14«:'Received@Rs 130perunit : .| 100
% 18 |Issued . - | - ] 1s0
“:;:23:; Returned from the issues on lOth January R 20
“ 26 Received@l20perunit _ : ' . ‘ 100
' ”“' 30 Wastage EREEER AT 10
% 31 |1ssued b e
8. Writ‘eshor'tnotes.‘onany'thre_e of the following: = =
‘a) Letter of credit | | ;
b) Different types of selective inventory control {SIC) .
- Techniques
c) Biltof Lading and Commercial invoice
d) "}Decentralised storing
C e iBlanket’order; T

http //www makaut com


http://www.makaut.com

S 'f. httb;]/w_makaut.COm

CS/BBA{HIIBIRM/BSCM/EVENIISEMA/BBA-402/2015 16‘ AR

9. a)

“JIT is very simple to learn but difficult to "
A unplement tn developtng countries nke Indta "

Bt . __Dtscuss the reasons behlnd it

g How much team work is important tn case of

Tata Motors s decide to produce tire for its

o upcoming Nano model Tﬂl to date they have :

st r-purchase it from outsource with the costtng of :
v w’:Rs 50 per tire For that the production manager of |

- [;,V,.Tata Motor is try evaluate the expected cost’ of this

venture and found that Materiaj require for one tier

- is Rs. 20 whereas the labour cost per tier is Rs. 10.
L 'thed "cost esttmated to run this project is

Rs 200000 As a logistic expert suggest the

i .suitable condttion to Tata Motors

.o 10.a
b)

“

o

Explain the applicatton of ABC method in the

'followmg shop s mventory system: °
‘(t): ‘ An]ali jewelers { Jewellery shop )
R ¢ 1) 'Traders Assembly (Sharee shop)

. '(m) »Ornamental Fish Store

11 Dtscuss VED analysis ‘with exampies State the

condtttons under which matertals requtrement plannmg

vtsuseful SR 8+7.
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